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-2 otAa=m 7Y 12,000& *x2,500 &L 30,000
-MHEEH 2 100, 000-& *100H 10,000
-t #¢g 6,000& *200H4 1,200
SIS Y FHl 2e 47,400 46,880 520
201 Bt H | 25,400 25,880 A 480
02 35249t 25,400 25,880 N 480
ostgdmeErg=2 400
- U2 X3S XH(53043) 200,000& x1CH x23] 400
OXgs X2l (=2, 87, ZAH S)
5,000,000& =5CH 25,000
405 XtabF S| 22,000 21,000 1,000
01 AL 2B FSHI 22,000 21,000 1,000
Oz dHI X 2 22,000
-1E 0= 22,000,000 ~10H 22,000
CE2XY L ITAEZ 22 2,606,964 2,357,271 249,693
= 27,000
Al 720,000
- 1,859,964
s sz 1,178,564 1,066,319 112,245
201 et A | 897,564 866,319 31,245
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S CAED
M At otEEt E2EE T4
@2 E2x98 2 JHALS 2l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 11,800 2,130 9,670
O M 2l 400
ON2s B3 1=t 1,400
-2f=(s88) 140,000& x5H 700
-22=5(5=) 100,000& *5H 500
— ot& 3t 40,0003 x5H 200
OFLHE HMII&H HEXIA(28E7Y)
100,000& »100& 10,000
02 2324l 885,764 864,189 21,575
OXgsX2eldl (S231t) 4,500,000& = 1CH 4,500
OL% JIIZSE SN2 (HIIAHL)
5,903& *480,000& *4.6% 130,339
OXN%E Jtzs o4 2,500,000 102 25,000
OAMD Jt28 E= 2,500,000& 102 25,000
ONzs 2=+ MM 5,903 +17,000& 100,351
Oz Hz=zs dMIIRI 600,574
-JI2R3 6,290 *3802H «2kwx 12 x1. 1 63,102
-ANERS
85.9& *5,903S x12Al 2t*0. 22kw*365L * 1. 1 537,472
401 Al HIZ 201 281,000 200,000 81,000
01 A& HI 281,000 200,000 81,000
OFQAAXNY =HS &I 4,000,000 *205 80,000
OL% FRP N2 S DA 3,000,000 x40 120,000
OR=2Z% =¥ 2 =3 SRS IA
3,000,000 275 81,000
2os |A2c 609,868 529,898 79,970
201 Let24d] 455,868 425,898 29,970
02 =24l 455,868 425,898 29,970
Ok=® 2ots X222 165,742
-L& Bots Sl (HIHAH)
4,431 %524 ,600& *6.7% 155,742
OEesS BTl 4,4315+15,758& 69,824
O=ots dJIe=s
37 .53 x105W*4,431S* 128 *1. 1 230,302
401 AIEHI L 20 154,000 104,000 50,000
01 A& HI 154,000 104,000 50,000
Ok= =¢tg E-3J17 WA 104,000
-2 S(LED) WA 800,000& 130 104,000
OESS HMAZEALAE 2=
50,000,000 » 14l 50,000
XotxE KXzel 29,980 30,424 AN444
201 L2l 29,980 30,424 AN444
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S CAED
M YHot tME E2EF =M
gelr E2XE & JIMAIEE 22l ool E )
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 =224l 29,980 30,424 AN444
OFMXGAE MRS 17,149
-JI2R3 7,703 «67kWx 12 % 1.1 6,342
—“AMBR3  97.1&%46.2kWx3652 xBAl 2F 1.1 10,807
OoHlggEIIE g
1,669 *0. 1251 % 176HP*1.5Al 2t 6 331
OA&&EHl Sl 11,000,000 * 14! 11,000
oot zte| Hls=2 125,000 «12& 1,500
JIEt JIdAIE =2 |X2el 14,552 10,630 3,922
201 Let24E] 14,552 10,630 3,922
02 =224l 14,552 10,630 3,922
Osn 8ZJ 22223 4,102
-&JIRe3 JIE= 6, 1603 «35kWx12& x1. 1 2,846
-8JIRzs AHE2  82. 13 +660KWh*12& *1.1 716
-SHe= 45,0003 123 540
Osws2dll |A2eltl 10,200
- Sz =2 500,000& =128 6,000
- AN&EZH XM 4,200,000 »1CH 4,200
OFIIEBA BE =2 125,000 =201 13l 250
SHIRNE> 32 ANES |FX2L 720,000 720,000 0
Al 720,000
201 LEt2E | 720,000 720,000 0
Al 720,000
02 2324gHl 720,000 688,000 32,000
O2HIERANES Al&2e 29l 2,000
Al 2,000
ozzg=2 626,342
Al 626,342
OA&ZEHl Sl 80,000
Al 80,000
OA&ZH SRAMZHI 11,658
Al 11,658
KNSA0UHR HXAL(LED E22 Y WHAY) 54,000 0 54,000
= 27,000
T 27,000
401 A& HIZ 201 8] 54,000 0 54,000
= 27,000
T 27,000
01 A& HI 54,000 0 54,000
OLED E2 XY WH A 54,000
= 27,000
T 27,000
SR R S 44,826 80,780 A35,954
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M SAlCHE D
M YNGD AME TP X
S duZBO2e HF CHel = &)
SN - HB B (B) - HRAY - BAS 0l b SSa DS
01 A& HI 10,000 0
OsgH=EaX# &X
HY2AZHI (A D) 1,334,242 1,363,730 A 29,488
el 2l 1,171,732 1,203,330 A 31,598
ol 2| 1,171,732 1,203,330 A 31,598
101 1Al 1,171,732 1,203,330 A 31,598
03 RIAHAZ 2B+ 1,171,732 1,203,330 A 31,598
Oz JI=Es 3,372,490& 18" x12&
oLy
-E=Z () 40,0002 x 128 159
- tExg(EHlRK) 20,0003 x12&+30Y
O=scl=4H]
- A=Al 130,000& »12& »18H
- g Z S0t 3,372,490 »23| x40%*18H
Oduadd=s 1,951,360 x50%+ 18
Ooxzuz2=e+¢
- 5o 101, 110& »52 »18H
- RESFIIE 134,800& 22 «18H
OXHEHIExY
—usSsry 468,300 73 x43]
-HEH(EE3) 300,000 »7H
ou=tl s
-2R=E(s8) 140,000& » 18
-2R=2(6t8) 100,000& » 18
- 2Et=E(49) 50,000& «18H
- ¢st=(5t2) 30,000& 18
-Sg2 20,0003 » 18 24
-9 40,0003 18
- &S ES) 40,000& 18H
Oz zeld &a3 150,000,000 =14
Oz el otk 5 34|
8,000 «18H 541« 123
Otethal XN& 30,0003 18H 23|
OLx&8g M=sUa X 20,000& »18Y
OHethal HA dXs XA
1,000,000& = 1CH 23]
Oftd EHdste= XA
20,0003 x5 « 128
Om&aE s Sl 13,000& » 18
=24 160,400 2,110
Jl= 34l 160,400 2,110
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M TAICHA
H: HE2G AU (S AICHE D)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 30,000 29,400 600
01 At 22l 30,000 29,400 600
O=EAERXN 7¢ 20,0002 x 110 A 2,200
OUFEAN=ZTY M2I=EE 175,000& =44 700
O=ZglHd EH #¢ 175,000 7 CH*4H 4,900
OFRM2EII2+EH| 10,000& »37H 122 4,440
OAZAZR XS AH 8,000 37«54l x 128 17,760
202 o4dl 124,320 120,960 3,360
01 = LH o4 1l 124,320 120,960 3,360
OZHoHI 280,000& x37H x12& 124,320
203 YR =2t 8,190 8,460 A 270
01 JIZ2Z YR8 2,970 3,300 A 330
Ot T AIZE 3,300,000 x90% 2,970
04 FN2ELRZ=TH| 5,220 5,160 60
ORMSIYRFLH 5,220
—300! 0l ot 400,000& 123 4,800
- =l 5,000& x7H =128 420
HRES (S AICHA ) 544,904 508,767 36,137
HEAHHK = 544,904 508,767 36,137
Met2e|dls 249 420,904 394,767 26,137
702 JI2EEZS 420,904 394,767 26,137
(O RIE=RSE= 420,904 394,767 26,137
ON:t2elIg He 42,090,400,000& *0.01 420,904
2ZNFHIS 29 124,000 114,000 10,000
702 JISEES 124,000 114,000 10,000
(EPIE=RSE-<a= 124,000 114,000 10,000
O=2dZ2N=3Ftdllls d&E=S 124,000
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